H £ 0l & AF & S

Al A

FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IE=R 61,534,020 54,830,813 6,703,207
= 29,101,736
Jl 4,476,594
= 7,491,539
Al 20,464,151
d=et IIE2a & 14,595,602 11,934,531 2,661,071
= 4,060,800
) 4,476,594
= 1,791,052
Al 4,267,156
di=st IR 2 oy 14,595,602 11,934,531 2,661,071
= 4,060,800
Jl 4,476,594
= 1,791,062
Al 4,267,1%
QHMGLL) =s JIE2AAE Y 8,910 64,732 55,822
201 fer= 3| 180 216 A36
01 At 2|l 180 216 A36
OJ=EZGHE =& 2t M=
60,0002 *3IH A 180
202 04l 2,820 3,192 VANCY/4
01 2LHoIH 2,820 3,192 A372
OJESX & AZIHEAE WS HOILE &
A 60,0003 x4 2 +32+33] 2,160
O2=01 AIZ F2FA bl
60,0002 3 180
Ol 40|25 XIZArE HRFE 0]
60,0003 x3& +23] 360
OstF RIS d2F4 0y
60,0002 x2&H 120
203 HF=AH] 4,000 4,000
03 A= PR FA| 4,000 4,000
OIIE=A ge=d 4,000,000 * 14 4,000
301 22N = 1,910 2,130 A220
11 AALEIXIES 1,910 2,130 A220
oAt A =8 EII2 103 &4
A 2ot 10,0002 x23& 230
OxZotad usE 2 AU &4
60,0003 %13 780
OIS & AL AR A
50,0002 18H 900
SSE0tU=E 288 56,712 0 56,712
7l 28,35
= 8,507
Al 19,849




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 56,712 0 56,712
Jl 28,356
== 8,507
Al 19,849
11 AMEISXAEEES 56,712 0 56,712
O3ss0Li=sH 22
56,712,000 * 10 2~ 56,712
Il 28,356
== 8,507
Al 19,849
JIBdH 29 1,115,030 592,980 522,050
Il 557,515
== 167,255
Al 390,260
307 212+01& 1,115,030 592,980 522,050
Jl 557,515
= 167,255
Al 390,260
1 AMISXAIEEX 1,115,030 592,980 522,050
OJIEdH 29 1,115,030,0002 170 A 1,115,030
Il 557,515
= 167,255
Al 390,260
IS SAH S8+ 20,520 20,520 0
== 6,156
Al 14,364
307 212+01& 20,520 20,520 0
[ 6,156
Al 14,364
11 AMEISXIAEEES 20,520 20,520 0
OIIZHE SAHA SE+E
90,0002 x19E «12& 20,520
= 6,156
Al 14,364
CrEshts ot A & X3 178,494 190,553 12,059
101 21A4H| 40,038 31,995 8,043
04 JIZtN2Z2XNSE+ 40,038 31,99% 8,043
200Ul SSHdE =24 40,038
—JlEs 25,0002 6 *30A| 2H+8E 36,000
—=8le= 36,000,000 *4. 5% 1,620
—2IEE 36,000,000 *3.545% 1,277
—1I=E2E 36,000,000 *1.75% 630
—AHES 36,000,000 *0.962% 347




FA OEES A
B w=s 525 A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ILEE 1,276,2002 %12.81% 164
201 er23| 17,488 19,438 1,950
01 At22te|Hl 17,488 19,438 1,950
o=l & UEsIENEEe =257
H S 348,000 %12 348
OU=2ate SSHdY 2+uS
300,000 *32] 900
OCI2EIHY SSH4Y D7)
30,0002 6 *102] 1,800
OIESA g% =4 S20A|
8,000 x4 *102* 122 3,840
OU23te Ch=012 2ot A &2t
10,0002 1502 1,500
O2i=el & UEHEXEE s 2823
=g 100,000& »7 & »23] 1,400
Ot=2=HE M 2=0s5S g ot
0 =28 =3 7 15,0002 158 * 122 2,700
OUNsE Z2HE Hu213
5,000,000& 12 5,000
301 EtE NS 7,368 7,520 A152
02 A2 EH 2GS (FHAAHS, W) 6,000 0 6,000
OQUR0IES EHAENY T2 29
300,000& 20 6,000
11 #AIAHIXI 2 S 1,368 1,520 A152
OZE0IF0d 2a5Ws & 22 &4
21,2003 20 *22 848
Ot=2atd AAElzl 22 F4At 24
10,0003 x26 & *22] 520
307 elztol & 113,600 131,600 A18,000
02 2B YAIHE X 8,000 16,000 /8,000
Os& UE3IIE Al Os® 289
2,000,000 *40H 2= 8,000
04 QIZHHAMAIH 2 £ 5,600 5,600 0
OAdHIHy, U=at etits =AMl K&
5,600,000& 12 5,600
11 AMEISXAEEE 100,000 110,000 10,000
OXHA SIS MEIAXIR (XEA)
20,000,000& *4=7| 80,000
Oz=dg JI5stu 28
20,000,000 *14! 20,000
CHESIEXNE Satate 453,976 513,747 A59,771
7l 226,988
= 68,097
Al 168,891
307 @20l & 453,976 513,747 AN59, 771
Il 226,988




2A:

JE=X1
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 68,097
Al 158,891
11 AR SXAMEER 453,976 513,747 AB9,771
OYEWE MHIA R
75,506,500 *4= | 302,266
| 151,133
= 45,340
Al 105,793
OSHIAAMHIA XA
8,525,000 4= J| 34,100
J| 17,050
= 5,115
Al 11,935
OoxHge XA
20,295,000 x4= 7| 81,180
J| 40,590
& 12,177
Al 28,413
O0IZAHNHIIE S LEAHY
9,107,500 42 J| 36,430
| 18,215
& 5,465
Al 12,750
C23IIEXE SSAML(ZE0/2IR S22 X) 20,000 0 20,000
| 10,000
& 3,000
Al 7,000
307 212+01 A 20,000 0 20,000
| 10,000
= 3,000
Al 7,000
11 AR SXAMEER 20,000 0 20,000
OZ=0/12X dek2dst XA
5,000,000 *4ZJ| 20,000
| 10,000
= 3,000
Al 7,000
=SSR 133,850 133,850 0
| 66,925
= 20,078
Al 46,847
307 2I2+01A 133,850 133,850 0
| 66,925
T 20,078




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 46,847
11 AMEISXAEEXS 133,850 133,850 0
OJt=32EE XA
33,462,500& *42 | 133,850
Jl 66,925
= 20,078
Al 46,847
ZE0IBX XA (FHFSHISIIH) 5,550 14,100 8,550
== 1,665
Al 3,885
301 2= 5,550 14,100 28,550
< 1,665
Al 3,885
02 AR 2EH LGS (HAAS, NLWE) 5,550 0 5,550
ORE0IN 2HFASHIE N
5,550,000 *14] 5,550
= 1,665
Al 3,885
L2t 228t 2 20,000 20,000 0
== 8,000
Al 12,000
307 212+01™ 20,000 20,000 0
[ 8,000
Al 12,000
11 AMEISXAEEES 20,000 20,000 0
Ot=2st 228t 24
10,000,000& 2271 20,000
= 8,000
Al 12,000
FEHE HdEsHH Uet 48,417 107,526 A59,109
201 ger=3| 605 4,924 4,319
01 AtR2tc|HI 405 450 N5
OO0t ZHMEAME 82 2= MH
1,000 40504 406
02 S5=24g4l 200 4,474 4,274
OYRE = PC AERS
200,000 *14] 200
301 LEtE N = 41,812 96,602 AB4, 70
02 A2 HSGS(FHAAHS, NSWE) 40,000 0 40,000
OstFRIIE HE=AH|
22,0003 +600 13,200
OtR2I1E SHaH|
30,0003 *600H 18,000
OstRR2IIE fAtded Xtel==)|
100,000 +88 8,800




2A: JIE=EX
Mo w=E II=2s A
chels sst OIS 2 08N E (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
11 HAFRHI X AZ2 1,572 1,752 A180
OIlhoY ClAZS L ol H el &A X
24 10,00021%552x23| 1,100
OOl&=X 2t S U HOILF BAX 24
50, 0002 +42 422 472
14 J|Et2 43 240 300 AB0
OFOPI= SIYDT ALY
60,0003 43| 240
307 212+01 A 6,000 6,000
02 QIZtAAAIEE R 6,000 6,000
OBstol ALY S AARIA T2 29
6,000,000 * 14! 6,000
SIRDIIEXRA 637,887 637,887 0
& 191,366
Al 446,521
301 LetENZ 637,887 637,887 0
= 191,366
Al 446,521
2 A BEHHZ(HAAHS, NYTHA) 637,887 0 637,887
OstR2It=E XAl K AFS
53,157,250« 128 637,887
& 191,366
Al 446,521
OIS2EHl S XA (SHRE2IIE) 3,588,604 2,697,273 891,331
| 2,870,859
& 358,885
Al 358,860
301 LPENZ 3,583,604 2,697,273 891,331
J| 2,870,859
= 358,885
Al 358,860
01 Al B& X2 (2 REETHA) 3,588,604 2,697,273 891,331
oors=xdl S N (SE2I1E)
29,050, 3333« 12& 3,588,604
J| 2,870,859
= 358,885
Al 358,860
Ols2sHl N(HAESIED THEXI) 13,000 31,816 A 18,816
| 10,400
= 780
Al 1,820
301 LBBNZ 13,000 31,816 A 18,816
| 10,400
& 780




SN ISR
Hu: #=st IS5 AN
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,820
EEEEPEIEREESTED 13,000 31,816 £18,816
Oots2=Hl N(FAE SRIUERIH)
1,083,332+ 122 13,000
] 10,400
= 780
A 1,820
2T =XAE 2 296,400 283,000 13,400
= 45,838
Al 250,562
301 LeteEa 12,520 12,520 0
< 3.2
Al 9,264
02 ABIEER 4B (FHHS, ML) 10,000 0 10,000
ORIIISZXAL S4T HPHES N
000, 0002 <2k 10,000
= 2,500
A 7,500
14 J|EHR &S 2,520 2,520 0
OBSREAIAL SAX SE4g 2,520
—NEF 90,0002!*124 122 1,080
< 324
Al 756
—dEd 120,000 * 1~ 122 1,440
= 432
A 1,008
307 B120| & 283,880 270,480 13,400
= 42,582
Al 241,28
CEETNEEEEETEES 283,880 270,480 13,400
ODIE2X HE=XAL 2| X
283,880, 0002 # 17} 283,880
= 42,58
Al 241,28
REX =XAIE SS(AE 012 X&) 21,480 0 21,480
= 6,444
Al 15,036
307 B120| & 21,480 0 21,480
= 6,444
Al 15,036
EETNEEEEETEES 21,480 0 21,480
ODIERX HS=TAIL 0/ X
21,480,000 * 142 21,480
= 6,444




FA OEES A
M H=3 )|E2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 15,036
ANEYAT e XS KA (BHRILIESXAIE) 7,000 7,000 0
Jl 3,500
= 1,050
Al 2,450
307 gl2to| & 7,000 7,000 0
Jl 3,500
= 1,050
Al 2,450
1A= XA 2 E 7,000 7,000 0
OANEUAT AEXIR U (BRINEZT|
Al&) 7,000,000 * 10 2= 7,000
) 3,500
= 1,050
Al 2,450
JHEEEAEAe 29 X2 146,711 136,036 11,675
Jl 73,355
= 22,007
Al 51,349
307 elztol & 146,711 135,036 11,675
Jl 73,355
< 22,007
Al 51,349
10 AlRISTIAIEEE 22X 146,711 136,036 11,675
ONlEZANEL 2% Xg
146,711,000 * 10 2 146,711
Jl 73,355
< 22,007
Al 51,349
8= Olol X XA 4,450 4,450 0
= 1,335
Al 3,115
307 elztol & 4,450 4,450 0
= 1,335
Al 3,115
10 AlRISEXAEHE2EHIEX 4,450 4,450 0
OJIE = Tloh HEYX XE A
4,450,000 * 10 2= 4,450
== 1,335
Al 3,115
Ole &= IJisaiel= 40,000 40,000 0
= 12,000
Al 28,000
307 elztol & 40,000 40,000 0




FA OEES A
Hu: W= JIE2s A
Chel: =Et ObE U GlALIE (crel: &8
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 12,000
Al 28,000
11 AMEISXAEEES 40,000 40,000 0
O0l2d= JIEZH =AY
10,000,000& *4= 7| 40,000
= 12,000
Al 28,000
ZFES IloHA EsAlE 2 276,404 247,220 29,184
Jl 204,567
= 21,551
Al 50,286
301 LeEN= 36,945 29,445 7,500
Il 36,945
01 A2 HSHS(RNEERTHE) 36,945 29,445 7,500
OJI =T R ESAIE HI=2 X MAbI
L= 1,203, 7502« 128 14,445
Il 14,445
OJIEZS TIaHA ESAIE EIaX HES
A& 22,500,000 * 100 2 22,500
J| 22,500
307 212t01& 239,459 217,775 21,684
J| 167,622
S 21,551
Al 50,286
10 MeISXAEHE2EHIEX 239,459 217,775 21,684
OJIE=1IchA ESAlE 2 A
237,398,000 *10H 2~ 237,398
J| 166,179
S 21,366
Al 49,853
OJIE =Y TahA AP E@|
2,061,000& 10 2 2,061
Jl 1,443
s 185
Al 433
FEAES ESAL JIsEd A 29,180 24,490 4,690
J| 14,590
=S 4,377
Al 10,213
402 2I2F X201 & 29,180 24,490 4,690
Il 14,590
= 4,377
Al 10,213
02 RIENZAEE X (01 THR) 29,180 24,490 4,690




2A: JIE=EX
Mo w=E II=2s A
ohelr =S I & AU E (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OEES F5AE )IS2Y N2
29,180,000 & *1JH A& 29,180
| 14,590
= 4,377
Al 10,213
=S Ok XIgsls 208 K& 17,653 39,019 221,366
| 12,357
= 1,589
Al 3,707
307 212+01 A 17,653 39,019 A21,366
| 12,357
T 1,589
Al 3,707
11 A= XA 2 17,653 39,019 £21,366
ONFZALGHA X282 T2 X
8,826,500 *27H 2~ 17,653
| 12,357
T 1,589
Al 3,707
IHEE =S Ok 22| XI& 12,451 8,143 4,308
| 8,715
T 1,121
Al 2,615
307 2Iz2+0l™ 12,451 8,143 4,308
| 8,715
& 1,121
Al 2,615
11 AL =SXAMEES 12,451 8,143 4,308
OJtE == Ikt 2l=Hl XI&
12,451,000 3 * 14! 12,451
| 8,715
& 1,121
Al 2,615
8= MYA 2 XJ 142,022 139,152 2,870
| 71,011
& 21,303
Al 49,708
307 212+01™ 142,022 139,152 2,870
J| 71,011
T 21,303
Al 49,708
10 Al S XA LB E2IHIE X 142,022 139,152 2,870
OME2 mgA 29 N
142,022,000 *1J1 2 142,022




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Il 71,011
S 21,303
Al 49,708
SEHIUNAL Azes 2208 4,286 9,116 A4,830
Il 3,000
= 386
Al 900
307 @12t0| & 4,286 9,116 A4,830
Jl 3,000
= 386
Al 900
11 ARRIS XA E X 4,286 9,116 A4,830
OdZHIoiA Xgsls T2 29
4,286,000 * 10 A& 4,286
Jl 3,000
= 386
Al 900
SES0IHA 2=, 2tEd] X 8,571 9,152 AD581
Jl 6,000
== 77
Al 1,800
307 el2tol & 8,571 9,152 581
Il 6,000
S 77
Al 1,800
11 AR SX A 2= 8,571 9,152 581
O&== Lokt 2l=Hl, 2t8H| X3
8,571,000 * 104 2 8,571
Il 6,000
= 77
Al 1,800
SOHOHLIGH A &Eax =29 K& 190,280 0 190,280
Il 95,140
== 47,570
Al 47,570
307 212t01™ 190,280 0 190,280
J| 95,140
== 47,570
Al 47,570
10 Al SXAIEEHE2EHI2x 190,280 0 190,280
Od ORIt &4 29 K&
190,280,000 * 104 2~ 190,280
Jl 95,140
s 47,570




2A: JIE=EX
M #=s IS5 A
Chel: =Et ObE U GlALIE (ol m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 47,5710
AOHORTIOH A KIRAIE 2SKXIR 243,640 418,759 A175,119
| 170,548
& 36,546
Al 36,546
307 QI2Hol ™ 243,640 418,759 A175,119
| 170,548
& 36,546
Al 36,546
10 Al SXAEHE2EHIEX 243,640 418,759 A175,119
O&OHOHTIGHAL XIRAIE 2 K&
243,640,000 =100 2~ 243,640
J| 170,548
& 36,546
Al 36,546
SOHOHIIOH At R E=XIR AR 46,918 84,888 A37,970
J| 32,842
T 7,038
Al 7,038
307 QI2H0| A 46,918 84,8838 A37,970
| 32,842
= 7,038
Al 7,038
11 AL = TIARL S 46,918 84,868 A37,970
OSUHTIHT TEXR Al
46,918,000 & 14! 46,918
| 32,842
= 7,038
Al 7,038
AOHOHIIGH AL X202 JIs2 19,852 5,280 14,572
| 9,926
= 4,963
Al 4,963
402 BI2HR=0l M 19,852 5,280 14,572
| 9,926
= 4,963
Al 4,963
02 QIZEXH2 AL 22 (01 & &) 19,852 5,280 14,572
OHOHOHTIoH At XIR&D|2 JIsE2 19,852
—=dO LN AL JIsE2
11,140,000 & * 14! 11,140
| 5,570
= 2,785
Al 2,785




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—olote JIsEd 8,712,000+ 14 8,712
Jl 4,3%
== 2,178
Al 2,178
HEZSLXNAE SAL S8 31,320 0 31,320
= 9,3%
Al 21,924
301 EtE N = 31,320 0 31,320
= 9,3%
Al 21,924
14 0Bt 2 a3 31,320 0 31,320
OWd=HAE SAHA SE+E
2,610,000~ 128 31,320
== 9,3%
Al 21,924
HE=XIAE XNA(E FIHKE) 175,664 174,945 719
= 35,132
Al 140,532
307 elztol & 175,664 140,025 35,639
= 35,132
Al 140,532
10 AlISXAZEHE 22X 175,664 140,025 35,639
OWd=EHEXAE 2 =0t K&
35,132,800 50 £ 175,664
== 35,132
Al 140,532
OlSHdEXFHUN= S 1,539 1,710 AT
201 Eer23 | 1,539 1,710 AT
01 At2tltl 1,539 1,710 A1
OOtSHEAHEXSFAN E2= M=
1,000 »2390H 239
O0tsSHEHENSAU=S 22 =&
100,0002 * 13 1,300
ode MNgu=s seds & FHYSEH K& 70,000 70,850 A850
[ 21,000
Al 49,000
307 glztol & 70,000 70,000 0
= 21,000
Al 49,000
04 QIZHHAMAMH 2 & 70,000 70,000 0
Odg o4 it &&a K
70,000,000& *12] 70,000
= 21,000
Al 49,000




SA ESAL
M H=3 )|E2s A
el #=s O E 2 HdAgAd (SH9 H2)
BB S9I(EH) - HRAR - BaS A HIDEZ
gMged 9,600 9,600 0
= 2,880
Al 6.720
307 el2to| & 9,600 9,600 0
= 2,880
Al 6,720
11 AR SXIAIEE 9,600 9,600 0
O0d e, ¥
3,200,000 x3&4 &t 9,600
== 2,880
Al 6,720
dHEsS a8 48,229 71,004 NP2, 775
201 Let=d] 31,240 42,840 A11,600
01 AlR2teldl 31,240 37,840 26,600
Oeraeibi22e X2 XIS (3HA)
550,000 #2JH 2+ 123 13,200
Octyertf2 2t 2teldl X2 (57H4)
210,000 x50 A 123 12,600
OXF U 438 tIgus BA+E
540,000 %12 540
O8BYEI} o HADF YA
o 450, 0002122 900
ONEHSTOI?)
100,000+ 13 1,300
OYHBSAL 00,0002 132 1,300
OYSTE R
280,000 54 1,400
202 0o4dl 3,240 3,600 A360
01 =LHOHI 3,240 3,600 A360
OddEsS AHE=0 E JX g&
60,0003 x3& 14! 2,520
O HESEAIZS HIXI0H
60,0003 x4 & +3& 720
301 EtE NS 1,749 2,564 AB815
14 IIEt2d3 1,749 2,564 A815
O¢td 2LIHE
11,0002 x 1593 1,749
307 @120l & 12,000 12,000
02 QB AANEER 12,000 12,000
Oogdggsx2t I
12,000,000 *12] 12,000
MHE XE2E(AZ) 663,037 621,586 41,451
= 461,89
== 40,228
Al 160,914




FA OEES A
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 663,037 621,586 41,451
= 461,8%
== 40,228
Al 160,914
11 AMEISXAEEES 663,037 621,586 41,451
OMgogele 3,800,000& +51& 193,800
= 185,040
=S 7,752
Al 31,008
OMZHE 2 X
324,764,000 * 104 2~ 324,764
= 162,382
== 32,476
Al 129,906
OXgussd 144,473,000 * 14| 144,473
= 144,473
MEHE SAXH M0 49,208 27,600 21,608
< 14,762
Al 34,446
307 glztol & 49,208 27,600 21,608
= 14,762
Al 34,446
11 AMEISXAEEE 49,208 27,600 21,608
OMLME SAXH XISHeH]
4,920,800& 10 49,208
= 14,762
Al 34,446
MEHE SAHL 234l X2 A 25,430 25,430 0
[ 8,630
Al 16,800
307 elztol & 25,430 25,430 0
= 8,630
Al 16,800
11 AMEISXAEEXS 25,430 25,430 0
OMLME SAR X
2,543,000& 104 25,430
= 8,630
Al 16,800
Hgelgady 28 N3 338,000 348,000 10,000
< 101,400
Al 236,600
307 212+01& 338,000 348,000 10,000
< 101,400
Al 236,600




A IE=SAH
Mo w=E II=2s A
el #=s O E 2 HdAgAd (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
" AMSI=XAIEEE 333,000 348,000 A 10,000
OG&RIZfLIE 29 X8
310,000,000 * 104 2~ 310,000
& 93,000
Al 217,000
O golaEfgsy IMEIE
12,000,000 x 10 2 12,000
= 3,600
Al 8,400
OO &OIZHLHE ISR
16,000,000 171 2 16,000
& 4,800
Al 11,200
HEFHESXRA HESZ T2 2H 10,000 10,000
307 gI2tol 10,000 10,000
11 AMSISXAEEX 10,000 10,000
OW4 HEY XJ HEY ZZH 2
10,000,000 * 10 2 10,000
&l Fek2dst & AtSIE0 = 51,384 41,954 9,430
201 Let23| 5,631 6,257 ANB26
01 ArR22teltl 5,631 6,257 ANB26
O0deld d&2dst WS
957,000 *13] 957
O &2t A XheF ARt
800,000 *13] 800
OWLEM AR ZAE SHIHE A
100,000& 103 1,000
OWLdEM s g2t 5,000 *300HA 1,500
OW&ed 2tE=l izl 374,000 *13] 374
OW&HH SHASEAEUS A28 2
250,000 *43| 1,000
202 Ot 1,500 1,710 A210
01 =WHOdbI 1,500 1,710 A210
OAHA =2 AL HOILE S &4
60,0003 x5 x5 1,500
301 LPENF 9,653 9,387 266
11 HALAHI XA Z 5,253 4,987 266
ONgdds2t S4% B4
20,0002 10 200
OXg LRI AEQIALS] EAXL 24
20,0002 10H 200
OW&XI =X A&IX| "l mASt
20,0003 x28F 2 1,120
O HEXNEA /35 &4 24
20,0002 10 200
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S 24,055
Al 56,130
18 SIS0t oA AS A 400,925 369,675 31,250
OFoelel=zHl A& 400,925,000 » 14 400,925
= 320,740
< 24,085
Al 56,130
LD EaME L 25,064 25,064 0
= 20,051
Al 5,013
301 EtE N = 25,064 25,064 0
= 20,051
Al 5,013
01 Al EE A S(FRNEXMA) 25,064 25,064 0
2017 W7 1,002,560 «25& 25,064
= 20,051
Al 5,013
HEZ0HR! SLHIESXA 4,800 11,000 26,200
= 3,360
== 432
Al 1,008
301 22N 4,800 11,000 26,200
= 3,360
= 432
Al 1,008
01 ARRI2HHSFS(SNERTHE) 4,800 11,000 26,200
O g&el EatISAI
1,200,000& x4H 4,800
= 3,360
= 432
Al 1,008
MNASEOHR! MEHl & ZAH X 6,000 3,828 2,172
= 3,000




2A:

X XH -
o=

==X
FAHE SNST

el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 900
Al 2,100
301 EtE NS 6,000 3,828 2,172
= 3,000
== 900
Al 2,100
01 AR 2EHSHS(RNEXRTH) 6.000 3,828 2,172
OMASZONQ el ¥ Al K&
6,000,000 *14] 6,000
= 3,000
== 900
Al 2,100
ZOoHe! EoAL X dH 116,180 118,500 22,320
= 23,236
Al 92,944
307 elzto| & 116,180 118,500 A2,320
= 23,236
Al 92,944
1 AMEISXAIEEXS 116,180 118,500 A2,320
OXIMES HAAL XJMEH 2
29,045,000 *43] 116,180
s 23,236
Al 92,944
ZO0He! SOl A PYHIE X 2,200 13,750 A11,550
= 550
Al 1,650
301 LEtE NS 2,200 13,750 A11,550
= 550
Al 1,650
02 A2 XSG (FHAAHS, NSWE) 2,200 13,750 211,550
OZO0fQ! SOl A PYHIE X
2,200,0002 %14 2,200
=S 550
Al 1,650
LTHE MBI A BFRH X2 (Z0HOISIHESXIZAIY) 1,766,149 1,128,000 638,149
= 1,236,305
=S 168,953
Al 370,891
308 AtXIEHMSOIE 1,766,149 1,128,000 638,149
= 1,236,305
= 158,953
Al 370,891
183 S| 2SO &HAEAIE 1,766,149 1,128,000 638,149




2A:

==X

B Fjo|E 2NEX
ol FOHOl HEE =XMHIA M2 (SHol: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OLEMEAMEIA BIRH XA
441,537,250 & 43| 1,766,149
= 1,236,305
= 158,953
Al 370,891
LEZOHC! F2HESMUIAXIA 1,576,364 1,416,930 159,434
= 1,103,455
= 141,873
Al 331,036
308 AHXIHMSOIH 1,576,364 1,416,930 159,434
= 1,103,455
T 141,873
Al 331,036
13 SI|2ASHICHEH B A X L EFALH] 1,576,364 1,416,930 159,434
oggdofel F2tasMdlA K&
394,091,000 *43| 1,576,364
= 1,103,455
T 141,873
Al 331,036
FAE UGN ST SSAHHAXRA 290,990 236,817 54,173
= 203,693
T 26,189
Al 61,108
308 AXISHMSOIA 290,990 236,817 54,173
= 203,693
& 26,189
Al 61,108
13 I 2SHICHeHE & X2 EF ALY 290,990 236,817 54,173
OggHoel guts ssMHlA IR
72,747,500 3 *43] 290,990
= 203,693
& 26,189
Al 61,108
AHLEXR UM K& 8,757 8,757 0
= 6,130
& 788
Al 1,839
308 AHXIHM SO & 8,757 8,757 0
= 6,130
T 788
Al 1,839
13 I 2 S0IeHE &R S AL I 8,757 8,757 0
OANHZENA Bt2X XI&
4,378,500& *23| 8,757




2A:
T ZH -
o e

=aak

p[E=E Y
FHos 2XBET
DOl XEH =XMHIA WS

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 6,130
=S 788
Al 1,839
LSETHEMEIA & EHH 205,200 168,480 36,720
< 61,560
Al 143,640
307 212t01™ 205,200 168,480 36,720
= 61,560
Al 143,640
05 2I2HRIE S 205,200 168,480 36,720
OLLEMEIA € =)
17,100,0002 x 122 205,200
= 61,560
Al 143,640
LEH RN 5,648 5,648 0
= 3,954
= 508
Al 1,186
308 AXIHMSOIA 5,648 5,648 0
= 3,954
== 508
Al 1,186
18 SIS0t HAS A 5,648 5,648 0
LR SRS
2,824,000 22 5,648
= 3,954
== 508
Al 1,186
oHelEsAd 202 18,061,523 16,665,673 2,395,850
= 12,643,066
= 1,625,537
Al 3,792,920
308 AHXIEMSOIH 18,061,523 15,665,673 2,39%,850
= 12,643,066
< 1,625,537
Al 3,792,920
18 SIS0t 4 A A A 18,061,523 16,665,673 2,395,850
OoelasNEsn A
4,515,380, 7502 43 18,061,523
= 12,643,066
< 1,625,537
Al 3,792,920
ESEX IS0 277,073 144,753 132,320
= 193,951




S JIE=RD
Hu: Fos =XSE

el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 24,937
Al 58,185
308 XXM SOIA 277,073 144,753 132,320
= 193,951
== 24,937
Al 58,185
13 SV 12S0He 4 A AS A 277,073 144,753 132,320
O Es2x JHtsSH
277,073,000 x14] 277,073
= 193,951
== 24,937
Al 58,185
Zoie! sXd = FIHE 2,001,544 2,001,544 0
= 400,309
Al 1,601,235
308 XXM SOIA 2,001,544 2,001,544 0
= 400,309
Al 1,601,235
18 SIS0t HAS A 2,001,544 2,001,544 0
OZoje gsXad & I
500,386,000 42 2,001,544
s 400,309
Al 1,601,235
L0 BMUSHE 2R 480,000 500,000 /20,000
== 480,000
307 @120l & 480,000 500,000 220,000
== 480,000
11 AMEISXAEEE 480,000 500,000 220,000
Ogddie BdusdH 28 A&
120,000,000 42 480,000
= 480,000
SSTHA NS HEHEH X2 160,830 160,830 0
= 64,332
[ 28,949
Al 67,549
307 lztol & 160,830 160,830 0
= 64,332
s 28,949
Al 67,549
11 ARRIS XA E X 160,830 160,830 0
OSSZMA LA
40,207,508 42 160,830
= 64,332
=S 28,949




A IE=SAH
Hu: 3oz =X =X
el EOBOl REE =XMHIA HZ (12l M2
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 67,549
ORI E KR H 2 Y 455,065 446,195 8,870
= 91,013
Al 364,052
307 QIZ2t01 A 455,065 446,195 8,870
= 91,013
Al 364,052
" ASI=XAIEEE 455,065 446,195 8,870
OXIEZ ! XS MET|2AMH 29
45,138, 7503 43| 180,555
& 36,11
Al 144,444
OZ0tEe! R MadE 23
54,127,500 3 43| 216,510
= 43,302
Al 173,208
OSSTHUAXSHEEHE FIHA2
58,000,000& *13] 58,000
& 11,600
Al 46,400
ZOHQ! JIEXJHH &KX 29 205,000 199,580 5,420
= 41,000
Al 164,000
307 QIZ2t01 A 205,000 199,580 5,420
= 41,000
Al 164,000
1 ASI=SXAIEEE 205,000 199,580 5,420
OZOoHe! JI=EXJHE 29
51,250,000 & *43| 205,000
& 41,000
Al 164,000
Zope!l =0ua 29 7,800 10,000 A2,200
= 2,340
Al 5,460
307 QIZt01 A 7,800 10,000 A2,200
= 2,340
Al 5,460
1 ASI=SXAIEEE 7,800 10,000 22,200
OBOQ 201D 2
7,800,000 *13] 7,800
& 2,340
Al 5,460
Y &0He! W=s KA A 50,000 50,000 0
& 15,000




FA OEES A
M FoE =2XEA
el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 35,000
307 gl2tol & 50,000 50,000 0
=S 15,000
Al 35,000
11 ARRIS XA E X 50,000 50,000 0
Od HoHel WEXIAY
25,000,000 #2012 50,000
< 15,000
Al 35,000
LEH AIRIEN 2208 29 8,000 10,000 22,000
= 2,400
Al 5,600
307 @20l & 8,000 10,000 /2,000
=S 2,400
Al 5,600
11 AMISXAIEEX 8,000 10,000 22,000
OLLT ARIFH(IHERY) T2
29 8,000,000 *1JH 2 8,000
S 2,400
Al 5,600
el S A=EY T2 18 2 60,000 60,000 0
= 18,000
Al 42,000
307 el2to| & 60,000 60,000 0
= 18,000
Al 42,000
1 AMISXAIEEX 60,000 60,000 0
OZ0je szt X7 8L 2208 24
10,000,000 *6H 2= 60,000
[ 18,000
Al 42,000
HEZ0e SLH MHIA A 129,616 121,118 8,498
= 32,404
Al 97,212
307 elzto| & 129,616 121,118 8,498
S 32,404
Al 97,212
1 AMISXAIEEXE 129,616 121,118 8,498
OWEHS SEH AMHIA A
129,616,000 * 14! 129,616
< 32,404
Al 97,212
dgd delsy SSHMY S5 S3LAel N 254,831 114,109 140,722
= 76,449




2A:

==X

M FoE =2XEA
el EOBOl REE =XMHIA HZ (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 178,382
307 gl2tol & 254,831 114,109 140,722
=S 76,449
Al 178,382
11 ARRIS XA E X 254,831 114,109 140,722
Otdd delss SSE s 83
2 xtel K& 63,707, 7503 43| 254,831
< 76,449
Al 178,382
ZOHRIFUHESAIE JIS2Z A 5,000 0 5,000
= 2,500
Al 2,500
402 2IZtA=01d 5,000 0 5,000
=S 2,500
Al 2,500
02 QI XHE AL E R (01X THE) 5,000 0 5,000
OHOUMLUFAUESAIE JIS2ES
5,000,000 * 104 2 5,000
== 2,500
Al 2,500
ZOHAXMATHEAIE JIS2S A 10,040 143,890 133,850
= 5,020
[ 3,514
Al 1,506
402 QI2F X201 & 10,040 143,890 133,850
= 5,020
== 3,514
Al 1,506
02 QI EASEZ(0IETHR) 10,040 143,890 A133,850
OHMAXNLTHEAIE JIS2ES
10,040,000 * 100 2 10,040
= 5,020
=S 3,514
Al 1,506
= oY XEdEg =H N2 82,000 82,000 0
307 lztol & 82,000 82,000
11 AMEISXAEEES 82,000 82,000
O=dd FUAUNSAAFE dgele oA
] 78,000,000 x 14 78,000
O=&e ZUANSANAFE JIErZH]
4,000,000 *14] 4,000
MASS Basis Al 281,219 275,358 5,861
el sz AgEllet &4 281,219 275,358 5,861
Hd=2stel2t =273 29 253,006 256,344 A3,338




2A:

==X

B A&o] BAstE A
BHel oldel sEHgy UEolet =4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 22,114 14,338 7,776
M ORINZZE2NSES 22,114 14,338 7,776
Ol d=2atalat sF 8| 2l2t| 18,983
—Jl2= 69,0202 x 1 *212x 102 14,495
—F5=4 69,0203 1 »442 3,037
— X2 &I 69,0202 * 12 +Q0H 622
—352sE 69,0202 18 »12& 829
Ol =Zstalat 2t B3Hl 282 J|& 2
= 2,131
—=2%= 18,980,500 4. 5% 855
—dAEE= 18,980,500 *3.545% 673
—1NEZE= 18,980,500 *1.75% 333
—dEEs 18,980,500 *0.962% 183
—|eYEE= 672,8592%12.81% 87
O34 &oll xI=Hl 1,000,000& x1H 1,000
201 Ler23 | 69,662 59,746 9,916
01 At2t2ltl 21,406 23,784 A2,378
O&=D| gxi= 40,0002 +50H* 123 2,400
Oovltl &xt=z 13,0002 x12CH* 12 1,872
O=AEA 7 40,0002 *42t A 12 1,920
OZcl=gYl U= 165,000 « 128 1,980
OAR4 HIXIE dE 5=
35,0002~ 12 420
OsgHM s5 7 1,380& *20001*62] 1,65
OSAlE =8 E§FE38 7Y
1,000 *2001 =102 200
Odd=sslat 2d=8 7
50,000 20862 6,000
OL& A2kt UF =8
200,0002 %13 200
OZAIIIA AL =22 100,000 12 100
OsZIl ZIIZA =8
140,0002 %12 140
OM==Z =8ZA =8
60,0002 23] 120
O0d=2stslat T2 2 M
523,000 22 1,046
Oud:stslat T2 82 42 M
200,000 *x3JH*32] 1,800
OJi2g® =4 S20AY
8,000 x2&»6 123 1,152
Oofztet 28 S20HA
8,000 x5+ 102 400
02 s3=gHl 48,256 36,962 12,294




A JEE=SX0

Hu: NSO Basts TAl
SHol: 0i89) SRNTD KRIDIEE X4

LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdII, &=k, TADIA A BZ
2,425,000 123 29,100
OusSHE F8= 210,000 12 210
OxgEaltl 50,0002 %12 50
Osl2 AE=7 bl 3,150,000& *12 3,180
Ox& LHXY 2,200,000& *23] 4,400
OdHLIIME S FA2clbl
2,200,000& %12 2,200
OCCTV, Zolal ¢Eadl ¥ BRI FX
2tel 935,000 42 3,740
O3l& ALY 2,000,000& %12 2,000
oggLs 29 250,000 *43] 1,000
Os83A(M=+x) A 363,000 <22 726
Ovd2stalar 2EAMSZ(EHY S)
140,000« 12& 1,680
202 04l 600 680 A80
01 SLHoIH 600 680 N80
OUdsaig /34 4 & X0
60,0003 »2&+5& 600
301 eEtE N = 160,630 181,580 A20,950
11 #AIAMHIXIZ S 1,350 1,500 A150
ONd=atSAt 25 AL 24
10,0002 * 15 +53] 750
OZF0Hstn A s HAL 24
10,0002 *15& %42 600
14 J|EI2 &S 159,280 180,080 /20,800
OXZHS S SAg
35,0008 *3A| 2+x242| 6 *37 | 45,360
O=2st, 4 ZAE
35,0002 x2A| 2+x24 2|« 16137 | 80,640
Oy HAt¢
35,0003 x2A| 2k *162|x8 I +22| 17,920
OOt Y ZA&
40,0003 <2A1 2x243| x7H 13,440
O=2 Uy A&
40,0002 <2A1 2kx 123 +20H 1,920
Hd2stalat nssd &4 28,213 19,014 9,19
201 Ler23 | 14,310 15,900 1,590
01 At2t2lt] 14,310 15,900 1,590
OWdZstal2t 2E2ARIAIAE =2
105,000« 12 1,260
OOIMSHEIR SOURHINAL 42
150,000& 122 1,800
Osdll =Al&el td 9
177,500« 12& 2,130
OAZAIE S22 e =4
180,000& 12 2,160




2A:

==X

M HAISL BAsts DA
el oldel s=EoE Y HEolel =4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&JIANEHE Sl e =4
150,000& * 12 1,800
Ostdd HIof¥ A2l 89
430,000+ 123 5,160
206 M=l 2,803 3,114 A311
01 M= HI 2,803 3,114 A311
Ogdll gxst ofs 7Y
400,000& 22 800
OsAtsote] 230 THE Mz 2L
500,000 <22 1,000
oZzd =g e Mz 7
501,500 22 1,003
401 AIEHIZ R 0HYI 5,000 5,000
01 Al&H| 5,000 5,000
Ol d2ztal2t AIdE &J| ot EH
2,500,000& 22 5,000
405 AtatE = 6,100 6,100
01 ML ESFSHI 6,100 6,100
OWdEstal2t MtNga 2AJ] L 25
J = 6,100
—Oig 2332t MUMEA AAII(BH=I])
- 3,700,000 1CH 3,700
—0dEstal2 MtHga g5 2
2,400,000 *1CH 2,400
HH2LIHIOIE=ID) 136,133 110,842 25,291
el 23 69,273 48,082 21,191
eIg =3 69,273 48,082 21,191
101 e124d| 69,273 48,082 21,191
01 2= 69,273 48,082 21,191
OAlIRAZ 25
11,3192 x17&+30AI 2+ 123 69,273
Jl=3H| 66,860 62,760 4,100
Jl=23H] 66,860 62,760 4,100
201 er23| 33,020 36,720 A3,700
01 AtR2t2|HI 33,020 36,720 A3,700
ONE=AL 28 55 =S|
50,0002 x17H =122 10,200
OSAPDI X2 & |Xl2teld]
350,000 <2CH* 122 8,400
OFINHS(EN, 4I2) 7S2
30,0008 +75+122 2,520
OF=Jl, SJ1383J|, ditll &gz
110,000~ 128 1,320
OfHLEE ST X
100& %2,0000H*43| x2S 1,600




A IE=SAH
M HHR2HHHI(OIE=XD)
Chel: J1=2 &l EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
SECENERENEEES
350,000 x 12 4,200
O=AMEX 2 450, 0003 62l 2,700
O2Xt &4 AIEH] 4,000& *20J1*23] 160
OJE=Re £7 S204A
, 0003 =2 +10 128 1,920
202 o4t 30,240 21,840 8,400
01 =WO4bI 30,240 21,840 8,400
OJ 22 HEZ 0|
20,0002 *18H 72 » 123 30,240
203 PR =&H| 3,600 4,200 A600
M FA2LHRFAH 3,600 4,200 AB600
ORN2ILRFAI 300,000& =123 3,600




